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FIRST TERM EVALUATION 2014 - 2015'_
‘ Time : 2% hrs.

- Std.9 Mathematics ‘ Score : 80
Instructions : o :
A The first 15 minutes of cool - off time.
A This time is to be spent for reading the question paper.
A You are not supposed to write anything during the cool - off time.
A Read the instructions carefully and attempt the questions. .
What is the sum of the angles of a polygon with 15 sides? , 3
Each angle of a polygon is 162°. How many sides does ithave? - 3
Can you draw a regular polygon with each of its angles equal to 133 °?Why? 3
Simplify the followings '
U 10x2 + 2x 4x2- y2
O v ®) 5y 3
X ‘_ 4 . 9x+4 -
5.‘ If y =% What is 755 v : 3
6. Express 'f2'1' into decimal form : o 3
7. Whatisthe length of a chord which is 8cm away from the centre of a circle of radius
10cm. ‘ : ' , ‘ _ 3
8.  Suppose you are given a circle. Give a method to find its centre? (Explanation or
construction) o , _ 3
9. v B
A
C _ .
Inthe figure O s the centre of the circle. AB and CD are two equal chords. Show
~ that ZAOB = ZCOD. ' : 3
10. Compute V2 + V18 - 8, Correct to 2 decimal places. (Take V2=1.41) 3
11.

Arrange the following numbers in ascending order. 3

35, 2V6, 5V2, 4\3
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What is the area of the shaded triangle shown in the figure? ' 3 |
The interior angles of a hexagon arex %, (x~-10)°,x (x+10)° (x+20)° (x+30)°and
(x+40)°. Find the value of x? o 4
Draw a regular pentagon of side-5cm : ' 4

a _ 7 3ar10 | 4
If—b~ —S—,thenﬁnd PN : 4 |
Draw AABC with AB = 7cm, AC = 6cm and ZA = 60° and draw its
circumcircle? 4
Using V3 = 1.732, find \j---- \l -----
Correct to 3 decimal places ' . 74
Draw AABC with AB = 5cm, BC = 5. SCm and CA= 6cm Draw an 1sosceles
triangle of the same area with one side AB itself. : 4
The exterior and interior angles of aregular polygon are in the ratio 2:7. How many
51des does it have? Find sum ofits interior angles? : : 5
If A= 2—1_] and B = 2321;:'1' then find the followings (a)A+B (b) A-B

- (©)AB. - " R : | 5

Ifachord 3cm away from the centre of the circle is 8cm long ; what is the length of

‘the chord at a distance of 4cm from its center" : 5

1
Simplify ------- (Take 5=2.236
S V5 +43

V3 ~1732) : ' 5




